
Operaciones con Enteros (J)
Emplee una estrategia de enteros para encontrar cada respuesta.

70 × -47 = -5530 ÷ -79 = -79 - -4 = 

-67 + -52 = 93 + 93 = 376 ÷ 47 = 

768 ÷ 24 = 8 × -7 = -93 - 95 = 

1026 ÷ -18 = -81 × -71 = -56 + -13 = 

-73 - -91 = 47 - 39 = -52 ÷ -52 = 

-5 × -43 = 7 × -30 = 41 × 46 = 

12 + -15 = -24 × -78 = 980 ÷ -98 = 

225 ÷ 5 = 33 - -26 = -34 - -9 = 

5700 ÷ 60 = 51 - -23 = -56 - -88 = 

48 - 37 = 31 - 6 = -4675 ÷ 55 = 
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Operaciones con Enteros (J) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

70 × -47 = -5530 ÷ -79 = -79 - -4 =
= -3290 = 70 = -75

-67 + -52 = 93 + 93 = 376 ÷ 47 =
= -119 = 186 = 8

768 ÷ 24 = 8 × -7 = -93 - 95 =
= 32 = -56 = -188

1026 ÷ -18 = -81 × -71 = -56 + -13 =
= -57 = 5751 = -69

-73 - -91 = 47 - 39 = -52 ÷ -52 =
= 18 = 8 = 1

-5 × -43 = 7 × -30 = 41 × 46 =
= 215 = -210 = 1886

12 + -15 = -24 × -78 = 980 ÷ -98 =
= -3 = 1872 = -10

225 ÷ 5 = 33 - -26 = -34 - -9 =
= 45 = 59 = -25

5700 ÷ 60 = 51 - -23 = -56 - -88 =
= 95 = 74 = 32

48 - 37 = 31 - 6 = -4675 ÷ 55 =
= 11 = 25 = -85
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